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SN -BH - S(B) - MRAY - BES Off & o4 il b o HRE2
= 15,236
= 4,571
A 10,665
RHESMAE TEALEY 2 239,509 241,309 A1,800
= 3,200
A 236,309
307 212t0H 239,509 241,309 A1,800
= 3,200
A 236,309
02 SIAHABE 239,509 241,309 A1,800
OXAZAN ZEAAE 2N
239,509,000%! 239,509
= 3,200
A 236,309
NESMN B X2 6,000 6,000 0
201 YBr2 ] 4,000 4,000 0
01 ALl 4,000 4,000 0
OZ2Y NAZA 2SXE 4,000, 0002 4,000
202 018 2,000 2,000 0
01 =0T 2,000 2,000 0
ORI Z A @43 01 b 2,000,0002 2,000
UYL AP (FUMBNRY) 84,210 85,000 AT0
2 20,800
= 3,640
Al 59,770
OBt (FUMET ) 7,500 7,500 0
S AL (FL ST B A) 7,500 7,500 0
203 REZH| 7,500 7,500 0
01 ISP AL EY) 3,300 3,300 0
OJleYYRETY) 3,300,000% 3,300
e L] 4,200 4,200 0
O N2 22 (3021015
350, 0008 * 122 4,200
EEETIEEERBEEEDE) 26,000 25,500 500
2 20,800
= 3,640
A 1,560
S NENTCEEVBIEEEERT 26,000 25,500 500
2 20,800
= 3,640
A 1,560
101 21 24H| 26,000 25,500 500
2 20,800
= 3,640
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A 1,560
03 RINHA2EXE 4 26,000 25,500 500
CEEEICEEIPRTET 26,000, 0002! 26,000
= 20,800
= 3,640
Al 1,560
2 ZH(FoMBRRA) 50,710 52,000 A1,290
Il ZH(FoIMSRRA) 50,710 52,000 A1,290
201 LByl 16,770 18,900 A2,130
01 At 16, 170 18,300 A2,130
ORMEYARBRIHI(BS) 16, 70,0002 16, 170
02 IT2YH| 600 600 0
ORER3 600, 0002! 600
202 Oft| 32,640 28,560 4,080
01 =2UoiHl 32,640 28,560 4,080
Ol R+80iHI(179) 32,640, 0002 32,640
405 XHAHE SHI 1,300 4,540 A3,240
01 RAUSEHS| 1,300 4,540 £3,240
O=YS 2 1,300,0002 1,300
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